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Fitting univariate mixture distributions
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Piecewise linear regression

Plot of Fitted Model

Zero-inflated count regression
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Trellis plots Decision forests
Trellis Plot by Age and Gender Class
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Support vector machines
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Dynamic Radar/Spider Plot (Year<2020)
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Item Value
Type of machine classification
Regularization parameter C 100.0
Type of kernel linear
Shrinking heuristic applied no
Probability estimates enabled no
Stopping tolerance 0.001
Kernel cache size 200MB
Maximum iterations unlimited
Class weights none
Break ties using confidence values no
Verbose output no
Results

Set Size % Correct

Training 75 97.3333%

Validation 75 96.0%

Prediction 4




Stability studies Quantile regression
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2D waterfall plots 3D waterfall plots
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Time series spiral plot Improved K-means clustering
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Age Dependency Ratio
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